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L (1l%points) Bhowthe oumber —F by B-bit binary codes using the fwos-
completisol representadion.  Als give an cxample to cxplain the problem of
L)

2, (l5ponts) Give the full names of the Eollowing acratyms:
CPO, RAM, VWYY, TRL, hitp

3. (20 points) Comvert the fpllowing inflx axprossion into 4 postfix expression:
(2+3* 54483 _2)*5+3,
Adso briefly doserilie how 1o evalusts postiix exprarsons.

4. {15points }  Let A b oo adjzeen matrix for 8 simple graph G = (¥, §), wliore
¥=x{1,2,....n}, and ALL, /] = 1 il aodde [ and node j are adjacent, where 1 S1#js
i, {Hhorwise, Afij]= 0 Dosribe Liiefly how to deteming whether or ot
given any two distized nodes i and j there is # path coanscting thase bwe nodes,
Amd find a showlest path if they sre conneeded.  Give nocessary dats strugtures in
order to gt ceadita,

5. { 13 points) Given o C programming data strusliuce 86 the Fallowing,
=ETuck .I!'LII:-.!E
[ int wajue;r
StRAck hmde Tlefr, ‘right:

]
design & recursive C fusesion (2ra recursive funetien in gotme olher programming
lLanguages) do find the $13E number of leaves of 2 binary wee. The heading of the
definiHen of the fubdion is as follpws:;
ink tobal leaves (sbopct node *ngd.
The call tatal leaves | wootnede + by passing the ot cootnode of 3 fres will
return the total puraber of lepves of the Wee,

B. (&)1 pointsh Given z bipartite praph G={Veill ¥, E}, where V1 ond Vi oo disjoint,
shiaw that the diffprepce berween the nurnbae of tdes of Y1 and Veis bess thay 26l
fiece is 3 Hamilton path in G .

(LK1 poinis) Given 4 gmph as fallows, is hete any Hamilion path in the graght
I there is one, dhea show it Otherwiss, explain why.
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